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Problem quickname: 1901

1)
Quick:
1901

Mark the midpoint of A und B!
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2)
Quick:
1901

Mark the midpoint of A und B! Identify the number at positions A, B and the
midpoint.

7000 100009000

A midpoint

8000

B

A= 6800; B= 9600; midpoint = 8200

3)
Quick:
1901

Mark the midpoint of A und B! Identify the number at positions A, B and the
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midpoint.
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A= 1030; B= 1270; midpoint = 1150
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A= 140; B= 460; midpoint = 300

400

BA

600200 300 500

midpoint

A= 240; B= 460; midpoint = 350
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A= 440; B= 540; midpoint = 490

4)
Quick:
1901

Mark the midpoint of A und B! Identify the number at positions A, B and the
midpoint.

−800

A midpoint B

−700

A= −750; B= −430; midpoint = −590

300

BA midpoint

400

A= 180; B= 420; midpoint = 300
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−200

midpointA B

−300

A= −160; B= −20; midpoint = −90

A midpoint

−400 −300

B

A= −540; B= −340; midpoint = −440

Good Luck!
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